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Note: there are two requirements associated with offering a i — “bringing nigh” (7w4:7), meaning touching the vessel which holds the
A to the SW corner of the narn before 1¥p7; and “waving” (79121), meaning lifting the 7mm.
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I ’n mwn: mnn which require navnn ,nwin, both and neither
a  Awaonly: flour, pan-fry, deep-fry, loaves, wafers, 3”51 0113 nmn, non-Jews’, womens’ and Xvn nnn (9™ — total=10)
i Dissent: w™ —no nwin for 321 ©1n2 nnan, as they have no n¥np; and if no n¥np, no NwIN
b Ar7772: source is v.1 — without "nnin”, would have applied to ynip alone; with "nnin” — entire nmn requires nNwan
i v nnp. from nnann
1 In spite of: possible inference — both 1210 nman and nam nnn must be brought — infer from v. 1 to xvIN NMan
2 Block: ®0m nnan has no nna% jnw (unlike na73 nnn)
(a) Counter: mrap nmn disproves — no N2 NW yet requires NN
3 Block: nvo nmn also requires nann
4 Common denominator: both NV nnin and N2t Nnn require N¥NP and require NWIN
(a) Apply: nomn nman should require nwan
(b) Block: both naTa nmam nvyo NMan are brought by all, regardless of financial status (n”n — within 717 n%Y)
5  Therefore: require the extra nninn
ii w77 nram extends NWAN to IMYN NI (per DnrRaM — v. 2); N27PM extends to NVID Nnan (per v. 3)
1 In spite of: v"p — n"n requires no nNaNN, but requires NWin; NVIL NN which requires nouN, certainly requires NWn
2 Block: nvyo nmn is barley
(@) Counter: 1myn nmin is also barley, yet requires nwin
3 Block: 1myn nnan requires nnav jnw (unlike XN nnin)
4 Common denominator: both R0 nman and IMyn nnan require N¥'np and require NWIN
(a) Apply: noo nman should require nwan
(b) Block: both 1myn nnin and Xvn nmn must be fine flour (NYv); NV NMn may be nnp
5  Therefore: require na»pm to extend nwan to NVIL NNIn
iii /A z nram (v. 1) for nvo nman 9per v. 4) — but YN NMn needs no MY, inferred from RVIN NNIN+NVID NNIN
1 Possible challenge (»”7): ROIN NNINI NVID NNIN are more common
(a) Response: those might never come; 91myn Nnan comes once a year in any case
iv  Proposal: perhaps nxkam is there to allow a T’ to voluntarily offer p1ww nnin
1 Argument: if the M1a¥ brings both barley and wheat as nan; the 7n’ can bring both as nam
(a) Therefore: v. 1 states n'9Rn — only these may be brought
(b) Challenge: perhaps nox8n teaches that all five types must be brought when a nnin is promised
(i) Therefore: it states n9RN — he may bring any of these (or all)
v w77 nmnn extends nwan to all other mman (D'w1 ,071) — but not to onNYn 'nwy D2an onY - (excluded from nYrN)
1 Justification: ©19n ©nNY ©nNYn 'nW have no part that goes on the fire
2 Challenge: 0201 nMan goes entirely on the fire — should require nwan (and it doesn’t — per na™pm
(a) Block: n2pm was already used (by w™) to extend nwan to VIO NN
(b) Defense: he is inferring from the 8”0 pan
3 Question: why include all other mnin and exclude n’s01 nmn?
(a) Answer: 0301 nnn, unlike other mnin, comes as an adjunct to others (n'nar)
(b) Challenge: then why not include 3”5y 313 nnan — which comes on its own account — for nwan
(i) Excluded: from nwnm (W teaches essential requirement, X" pan excludes 3”1 0102 Nnn)
(ii) Justification: all other mnin come on their own account, have some part n*wxY and some 0%n2%
1. Excluded: ©90 DN Dn%n 'NY — none D'WRY
2. Excluded: "1 @302 nnian — none eaten by 02>
3. Excluded: 0301 nmn — which comes on account of a nar
vi 0291 (v1): follows v. 5 — must be done by hand, not with a *%3
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